ТРЕНИНГ  ДЛЯ  ПОДГОТОВКИ  К КОНТРОЛЬНОЙ РАБОТЕ ПО ТЕМЕ «ПОКАЗАТЕЛЬНАЯ ФУНКЦИЯ»
1. Решить уравнение:
  а) 32х+1 – 8·3х = 3;          б) 5х² – 15 =25х;          в) 0,5·2х– 1 + 23 – х  = 3;         
   г) 2х·5х =0,1·103х² – 1;      д) 4х – 3·2х =4;        е) 9х – 5·3х+1 + 54=0;  
   ж) 2·4х – 7·2х + 3=0;         з) 0,15х– 8 – х²=100;

   и) 4·72х+4 – 32х+6 – 2· 72х+3 +32х+3 = 0.                к) 2х + 2х+1 + 2х+2 +2х+3 = 30.

   л) (2 –
[image: image1.wmf]3

)х + (2 +
[image: image2.wmf]3

)х – 4 = 0.                         м) 3·4х + 6х – 2·9х = 0.

2. Решить неравенство:
  а)3х – 2·6х 
[image: image3.wmf]³

 0;                 б)0,5·(0,5)2х– 1 > (0,5)х – 1 ;          в)10х – 8·5х 
[image: image4.wmf]³

 0;  
  г)  27х < 9х² – 1 ;                  д) 9х – 3х+2  
[image: image5.wmf]³

 0;                        е) 9х + 3х – 12 
[image: image6.wmf]£

 0; 
  ж)
[image: image7.wmf]16

1

· (0,25)х – (0,25)3х+2 
[image: image8.wmf]£

 0;              з) 0,25х – 3·(0,5)х + 32 
[image: image9.wmf]£

 0;            
  и) 
[image: image10.wmf]х
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   л) 
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3. Решить систему:
        а) 
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        г) 
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